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QUESTION 1

What is the standard Subsystem Number for the Gf interface in the UMTS domain?
A.6

B.7

C.8

D.9

Correct Answer: D

QUESTION 2

Which failure code is sent in the authentication reject message when a UE with USIM fails to receive the AUTN as part
of the authentication and ciphering request from the SGSN?

A. GSM authentication unacceptable
B. MAC failure

C. SYNC failure

D. RAND failure

E. UMTS authentication unacceptable

Correct Answer: A

QUESTION 3
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Dirag the interfacas on the left to match the criteria for GTP2 control planes on the raght

54

The TEID-C shall be unique per FDN-connection.

fal

53

S11

‘ S16

Select and Place:

There skall be only one pair of TEID-Cs per UE

Drag the interfacas on the left to match the criteria for GTPv2 control planes on the rght.

sS4

The TEID-C shall be unique per PDN-connection.

ot}

53

S11

‘ S16

Correct Answer:

There skall be only one pair of TEID-Cs per UE

Drag the interfaces on the left to match the criteria for GTPv2 control planes on the rght.
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The TEID-C shall be unique per PDN-connection.

St

St

There skall be only one pair of TEID-Cs per UE
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QUESTION 4

Which option describes how the Diameter relay agent routes messages to Diameter servers?
A. based on IP address

B. based on destination realm

C. based on application used (Gx, Gy)

D. based on source realm

Correct Answer: B

QUESTION 5

Which organization developed and maintains the Universal Mobile Telecommunications System?
A. 3GPP2

B. 3GPP

C.ITU

D. ANSI

Correct Answer: B
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